

### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

## DEPARTMENT OF MATHEMATICS UNIT-Y Z-TRANSFORM

### Method of positial Fraction:

$$\frac{A}{2} = \frac{A}{(z-1)(z-2)^3}$$

$$\frac{A}{(z-1)(z-2)^2} = \frac{A}{(z-1)} + \frac{B}{(z-2)} + \frac{C}{(z-2)^2}$$

$$\frac{A}{(z-1)(z-2)^2} = A(z-2)^{\frac{1}{2}} + B(z-2) + C(z-1)$$

$$\frac{A}{(z-2)^2} = A(z-2)^{\frac{1}{2}} + B(z-2) + C(z-1)$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-1)^2} + \frac{A}{(z-2)^2}$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-1)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2}$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-2)^2} + \frac{C}{(z-2)^2}$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2}$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2}$$

$$\frac{A}{(z-2)^2} = \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2} + \frac{A}{(z-2)^2}$$



### SNS COLLEGE OF TECHNOLOGY



(An Autonomous Institution)
Coimbatore – 35

# DEPARTMENT OF MATHEMATICS UNIT-Y Z-TRANSFORM

3) It ind 
$$z+\int \frac{z^2-3z}{(z+5)(z-2)}$$

$$F(z) = \frac{z^2-3z}{(z+5)(z-2)}$$

$$\frac{F(z)}{z} = \frac{z-3}{(z+5)(z-2)}$$

$$\frac{z-3}{(z+5)(z+2)} = \frac{A}{(z+5)} + \frac{B}{(z-2)}$$

$$z-3 = A(z-2) + B(z+5)$$

$$put z = 2 \Rightarrow B = -\frac{1}{2}$$

$$put z = -5 \Rightarrow A = 8/\gamma$$

$$\frac{F(z)}{z} = \frac{8/\gamma}{(z+5)} - \frac{1}{\gamma} \cdot \frac{z}{(z-2)}$$

$$\Rightarrow F(z) = \frac{8}{\gamma} \cdot \frac{z}{(z+5)} - \frac{1}{\gamma} \cdot \frac{z}{(z-2)}$$

$$z^{-1} \cdot \frac{z^2-3z}{(z+5)(z-2)} = \frac{8}{\gamma} \cdot z^{-1} \cdot \frac{z}{(z+5)} - \frac{1}{\gamma} \cdot z^{-1} \cdot \frac{z}{(z-2)}$$

$$= \frac{8}{\gamma} \cdot (-5)^n - \frac{1}{\gamma} \cdot (z)^n$$